

**Region:** 5

**Location:** MD002

**CSS #:** 26137

**Maximo Work Order No.:** 12762

**Asset #:** NA

**Date Issued:** 09/02/20

**Original Description:** Rick duplicated ticket to capture additional efforts needed - Need an electrical contractor to trouble shoot circuit -power supply is broken underground to the 3 double light poles This is at the new OMS Bldg to the right when you first pull in.

**Repairs Needed:**

SS Mechanical will run a 1" PVC pipe in the ground 50' to the closest pole light near back of the fence and come out of the ground and stub pole light base and turn on

**RS Means Line Buildup and Labor Summary (Data Version 2017, Q4):**

Quantity	Line Item Number	Description	Labor Hours	Labor Rate/Hr	Materials	Equipment	Total
--	NA	See parts detail in quote	--	--	\$170.18	--	\$170.18
--	NA	Diagnostic	--	--	\$400.00	--	\$400.00
--	NA	Electrician Hours	12	\$100.00	--	--	\$1,200.00
		General Maintenance	12	\$75.00	--	--	\$900.00
--	NA	TW Coordination	4	\$80.00	--	--	\$320.00

**Estimate Summary:**

Labor Hours	Labor Cost	Material Cost	Equipment	Total Cost	CE Factor	Total Estimate
28	\$2,820.00	\$170.18		\$2,990.18	106%	<b>\$3,169.59</b>



## CUSTOMER QUOTATION NO. 360

Tidewater, Inc.  
Tidewater, Inc  
6625 Selnick Dr.  
Suite A  
Elkridge MD 21075

**Quote Name:** 12762  
**Quote No:** 360  
**Site:** MD002 Ordnance Road  
**Site Contact:**  
**Salesperson:** Molly King  
**Created Date:** 09/01/2020  
**Valid For:** 30 Day(s)

CSS 26137  
WO 12762

SOW: Need an electrical contractor to trouble shoot circuit -power supply is broken underground to the 3 double light poles

S&S proposed to run a 1" PVC pipe in the ground 50' to closest pol light near back of fence and come out of the ground and stub into pole light base. Then tie into power and turn on.

### Service

Item	Quantity	Unit Price	Total
Diagnositc labor	4.00	\$100.00	\$400.00
80' pvc pipe PN 98006006003	1.00	\$46.68	\$46.68
90* Elbow 98006006043	2.00	\$2.18	\$4.36
Male Adapter 98006006203	2.00	\$0.96	\$1.92
WIC 500ft 98010023000	1.00	\$112.58	\$112.58
Conduit 98006006543	1.00	\$4.64	\$4.64
Electrical Labor Rate	12	\$100.00	\$1,200.00
General Maintenance Labor Rate	12	\$75.00	\$900.00
<b>Sub-Total ex Tax</b>			\$2,670.18
<b>Tax</b>			\$0.00
<b>Total inc Tax</b>			\$2,670.18

<b>Labor</b>	\$2,100.00
<b>Materials</b>	\$570.18
<b>Sub-Total ex Tax</b>	\$2,670.18
<b>Tax</b>	\$0.00
<b>Total inc Tax</b>	\$2,670.18

**CAPITAL ELECTRIC**  
**8511 PEPCO PL**  
**UPPER MARLBORO, MD 20772-2500**  
**301-909-6500 Fax 301-736-1361**

nichon.skinner@capitalelectricsupply.com

QUOTE TO:  
S&S FABRICATORS INC.  
4845 SOUTH CRAIN HWY  
UPPER MARLBORO, MD 20772-3109  
240-882-1660

### Quotation

QUOTE DATE	QUOTE NUMBER
09/01/20	S041674296
	PAGE NO.
1 of 1	

SHIP TO:  
S&S FABRICATORS INC.  
4845 SOUTH CRAIN HWY  
UPPER MARLBORO, MD 20772-3109  
240-882-1660

CUSTOMER NUMBER		CUSTOMER ORDER NUMBER		JOB NAME		QUOTED TO	
SALESPERSON		SHIP VIA		FREIGHT ALLOWED		EXPIRATION DATE	
ORDER QTY	UPC	DESCRIPTION			UNIT PRICE	U	EXT PRICE
80ft	98006006003	PVC 100P 1IN SCH40 PVC PIPE			48.630	c	38.90
2ea	98006006043	PVCFIT 100P40 90D SCH40 ELB 1 IN 90DEG SCH40 PVC COND ELBOW			91.110	c	1.82
2ea	98006006203	PVCFIT 100P MA 1 IN PVC COND MALE ADAPTER			40.110	c	0.80
1ea	622454S0001	IPE 078798 (MBCC10) PINT PVC MEDIUM BODY CEMENT CLEAR LOW VOC			6.780	e	6.78
500ft	98010023000	WIC THHN 10 STR BLK 500R			187.640	m	93.82
1ea	98006006543	PVCFIT 100P LB 1 IN PVC TYPE LB CONDUIT BODY			387.390	c	3.87

#### TERMS & CONDITIONS

This order is subject to Company Terms and Conditions of Sale, which provisions shall govern in the event of any conflict with any Terms or Conditions of Purchaser's proposal, purchase order or other documents. All quotes/bids for Pipe and Wire are good for the date of the bid only. No extension of the pricing of these items is authorized by any employee of the Company without express written consent in the form of an official letter or signed acknowledgement of an Officer of the Company.

#### TAXES NOT INCLUDED

<b>Subtotal</b>	<b>145.99</b>
<b>S&amp;H CHGS</b>	<b>0.00</b>
<b>Amount Due</b>	<b>145.99</b>





